
Série 1

(1) Calculer en posant l’opération : 2,3 × 13,1 =

(2) Insérer un nombre : 5,12 < ? < 5,5

(3) Calculer mentalement : 2,0234 × 1 000



Série 2

(1) Calculer en posant l’opération : 7,5 – 2,15

(2) Insérer un nombre : 53,18 < ? < 53,3

(3) Calculer mentalement : 12 578,7 ÷ 1 000



Série 3

(1) Calculer en posant l’opération : 13,45 + 8,4352

(2) Insérer un nombre : 15,32 < ? < 15,4

(3) Calculer mentalement : 5,26 × 1 000



Série 4

(1) Calculer en posant l’opération : 13,41 ÷ 3 =

(2) Insérer un nombre : 4,199 < ? < 4,2

(3) Calculer mentalement : 70,1 ÷ 1000


